L
&
450
355
315
3)
| [==s
=
S
S 2T
& &
S e

7 ATVVATVE
: WETNTOET,
B L REDSAEL OB
KENOE OIS
5T
H—EADRF ORI AE
IO ATHEO L
BROERCEL,
\/
=t 48]
G1/2A
1 BEI—F 30
B
=R
#3m) kD
L - (B
4,
= :;D \\ K IR
== 1 P
5 when | o ¢
o AL 225
. x E_ 4
8 37
510 (100)

76)
$58)

HPT-363LT-E | <b% b5 BK>%47 Tiaks
A W < % 184 50X8T515 Ay TBEIAREG635)XEE1430mm
- Al (REBEE 76 Omm BEFEE 670mm)
2 5 B E|#&EH 35kq EAH 25kg
[BREEL B J‘?ﬁ;&u _.
I L N FELEDTVT
DaKER L Da7koEs:) EBLEDSYY
B K |FRELED/N\vISA I ET
= N 1Tl eco |BBELEDN\YISAIERR
% K|FBLEDN\vISAIMER
B JBIACI00V 50/60Hz A
S B B S|BSSO 1,015W  AKEZm 145/150W
Bk B | BAOKEYT (15 LX 2E) SR KREELTIAK ANBEKEEEAK
HE K B 5| BAROHKE VY (10 L) AOHK AR EEKONEETK)
= 2 > 7|IYUS190 (BT A8HR) AR R ¥5.6L
E — % —|ATVLARY-REe—%— 1,000W
# F B FE|@% $90°C(73~98°CHAE)
AH B AR Y| PPHllE  4UvEMKE $4.9L
B oK 3O A4 JU|SUS304TP @7.AFYLAINAT)
;% WY A7)V B 7oA JOVHFC—134 a E7 0 EENSS)
/'D 7k /Ell Fg %’]4OC (r\é7j(7kum bﬂkikctuz@])
1838185 K 2 B[ 5.5 LIREA RREIA 20 BKRERR/IR (70— 5R IERKEHH 1B
B R X % B Fr_2a—F—H—HEER T2 cEd
W OH B B ZUBSR FREficiUE0ERERE
[ *4 A 2(H1200m | NAEEETHA420q)
R 7 7 | 7aRsIr BRIy
BRI | it Y — &Y BB T OB K BRERE O N
B B 8 @ EEtUY— I BERRUTORICk—2—%0N
ARTA V| | B CARICEY, BEEIOKAELVE, O 7Ly —%0N
WO 8 @] EREEEIEE BT BT B A BAKEHASEE
w18 B 5 8| BERERICRAYY T TESL BT BEUF TE T TR TALLET)
;Eélmﬁﬁwlﬂ£3ﬂﬁ®ﬁﬁh%%%Ebélzé&t?ﬁﬁﬁ%ﬁ%ﬂﬁi
0 [B B 3 & 5 8| BRI RN BT (BT
BE Y~ A5 | BRI IENES LE@&@UU/M#—?@4b7HD%%ﬂ)
ZE B B b SA3HETE
X HE 8| EE RENEEE) (RERRIERIC L) RRE 24— BRE 4R
B EE Y — 5 8| BERfick) 2 FEUE 1 FBICEOEEDEENL B—REICTS
Aok BIEE. EE. FRHAR. N~V 3V F v N\—RFTys
B R KE RS, HhEEE, R B8R 4 BENEEK. B kiR
0 | RACERERE. ARE TR, B, B R,
AR AT 2 — L R
B —B—AKHSON/OFFERE. KBS 1t
1Y 7Ly — | BEERERE. YTt Y
N —-EE@%%E&H@FF 105C FEER)
it i K| KAt Y — L&Y BAKKAA T ORsICE—2—%0F F
=B K| BERRAL T — ORI L) SRR I A REEE B
R B REEmE
#$® ok O Q0 ®’G1/2A
W B 52 f[RIKITR BRGHE
ME LR AMETLE EERTLFE EkE
AvTHRIA—IMTC—101]
KL XY [RKT—01P]
Kkt —[RKT—02P,/RKT—03P,/RKT—04P]
2 = =} K2 —FMTS—T]
KeoBE[RO—FF/ A0—TE]
sERIEEY R [SFT—01,/SFT—02]
SERIERR [ TK —7 0 ON]
SERIEEE[TOH—52 0]
d ~ =
oo ZB8 8 KX O N
Bl B HPT—363LT—E




